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1. ()       . 14 

  (1)     ?      ? 

  (2)         -9  
     . 

 
  (1)             

 . 
   -   -   
   - -  - ..  

  (2)            
  . 

 ()        . 4 

  (1)         ? 

  (2) ‘ ’  ‘’       ? 
  (3)            ? 

  (4)         . 
  (5)      . 
  (6) ‘  ’        ? 

 
2. ()       . 14 

  (1)             
‘ ’  . 

  (2)      ?        
  . 

 
  (1)    ‘ ’  ‘ ’   

   . 
  (2)            . 
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 ()        . 3 

  (1)      . 
  (2)        ? 
  (3)      . 
  (4)           ?   ? 

  (5)          ? 

 
3. ()       . 14 

  (1)    . ‘   ’     
  . 

  (2)      .     
     . 

 
  (1)     ?         

 -   . 
  (2)      ?      ? 
 ()        . 4 

(1)     ‘ ’     ?
   (a)  (b) 

(c)   (d) 
(2)   ‘’       ?

   (a)  (b) 
(c)  (d) 

(3)             
  ?

   (a)   (b)   
(c)   (d)  

(4)       ?
   (a)   (b)  

(c)  (d) 
(5)           ?

   (a)   (b)  
(c)   (d)  
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4. ()       . 14 

  (1)           .    
-   -  .                      
      500   .     .          
1  = 250       .     
         . 

  (2)    . 

   (a)       .         
     30  .     
   8   60 .       
  ? 

   (b)    3.5   9    . 
     . 

 

  (1)  ABC  B  .  AC – AB = 9  AC – BC = 18                
 ABC  . 

  (2)     : 

   (a)      ax + by + c = 0     
 a, b  c   . 

    (1) x – 
y
5 = 10  (2) – 2x + 5y = – 9 

    (3) 
2x
5  + 4y = 

1
7  (4) – 

4x
7  = – 

3y
5   

   (b)    38     10   13  ,   
 . 

 ()        . 3 

  (1)          ? 

   (a)        . 

   (b)       . 

   (c)         . 

   (d)   
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  (2)       ? 

   (a)  ,           . 

   (b)  ,        . 

   (c)   ,        
  . 

   (d)        . 

  (3)     x – 4y = 4   ? 

   (a) (0, 2)  (b) (4, 1)            

   (c) (1, 1)       (d) (0, –1) 

  (4) ‘       5  .’ –   
      ? 

   (a) x – 3y + 5 = 0  (b) 3x – y – 5 = 0 

   (c) x – 3y – 5 = 0  (d) 3x – y + 5 = 0 

  (5)  a1, a2, b1, b2  0         ? 

   (a) 
a1

a2
 = 

b1

b2
  (b) 

a1

a2
  

b1

b2
 

   (c) 
a1

b2
 = 

a2

b2
 (d) 

a1

b2
  

a2

b2
 

___________ 
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1. (A) Answer the following questions : 14 

  (1) What is unit planning ? How will you plan it ? 

  (2) Give points to be kept in mind during annual planning and prepare annual 

planning for the present Mathematics curriculum of Std. IX. 

OR 

  (1) Prepare a sample of unit planning for any unit of Mathematics by keeping 

following points in mind : 

   – General objectives 

   – Specific objectives 

   – Teaching-Learning activities     

   – Black board work 

  (2) Give    difference    between    social    and    professional responsibilities  

of a  Mathematics  Teacher  and  other Teachers.  

 (B) Answer any four of the following six questions.  4 

  (1) What is the link between annual and daily planning ? 

  (2) Why ‘Introduction to Set’ should be taught before teaching ‘Circle’ ? 

  (3) Which method will be more appropriate for teaching Area and Volume ? 

  (4) Give any two differences between lesson and unit planning. 

  (5) Give any two merits of Monthly planning. 

  (6) How will you distribute sub-points of ‘Height and Distance’ unit into 

periods ? 
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2. (A) Answer the following questions. 14 

  (1) Select any topic of Mathematics and prepare ‘Lecture note’ for teaching it 
by using Lecture method. 

  (2) What precautions should be taken during Demonstration ? Give name of 
any five topics of Mathematics which can be taught by Demonstration. 

OR 

  (1) Explain with example, method of teaching Mathematics which uses 
‘specific to general’ and ‘general to specific’ approach. 

  (2) Prove any one statement of Theorem by using Analytic and Synthetic 
method.  

 (B) Answer any three of the following five questions.  3 

  (1) Give any two assumptions of Inquiry approach. 

  (2) Why induction is incomplete without deduction ? 

  (3) Give any two merits of analytic method. 

  (4) Which out of analytic and synthetic method can be said better ? Why ? 

  (5)  When inductive method can lead to inappropriate inferences ?  

 

3. (A) Answer the following questions : 14 

  (1) Give features of good assignment. Prepare five interesting assignments by 
keeping ‘Area and Volume of Circle’ in mind. 

  (2) Explain Concrete to Abstract maxim with example. Give five Abstract 
concepts of Mathematics and give ways to convert it into Concrete. 

OR 

  (1) What is objective question ? Prepare three questions for each of any five 
types of objective question by keeping any one chapter of Mathematics in 
mind. 

  (2) What is Oral work in Mathematics ? Why it should be done ?  

 (B) Answer any four of the following six questions. 4 

  (1) Which of the following word clarifies ‘Drill work’ ?  

   (a) Practice     (b) Review     

   (c) Oral work     (d) Induction 

  (2) By what name ‘question’ in multiple choice questions is known as ?  

   (a) Choice      (b) Stem        

   (c) Distracter    (d) Response 
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  (3) Which maxim of teaching is in use while teaching addition by using 
counting of fingers ?  

   (a) Analysis to synthesis      (b) Uncertain to certain  

   (c) Whole to Part  (d) Concrete to Abstract 

  (4) Which is the first step of Inquiry approach ? 

   (a) Testing truth  (b) Presenting problem  

   (c) Experimentation             (d) Explanation 

  (5) On what bases remedial work is planned after diagnosis ?  

   (a) Purpose of diagnosis       (b) Evaluation of answer sheet  

   (c) Area of diagnosis  (d) Error analysis  

 

4. (A) Answer the following questions : 14 

  (1) A city has two main roads which cross each other at the centre of the city. 
These two roads are along the North-South direction and East-West 
direction. All the other streets of the city run parallel to these roads and are 
500 m apart. There are three streets in each direction. Using 1 cm = 250 m, 
draw a model of the city. Show cross-section point of Second Street from 
main road in North direction  and  Third  Street  from  main  road  in  West 
direction.  

  (2) Answer the following questions : 

   (a) A straight highway leads to the foot of a tower. A man standing on the 
top of the tower observes a car at an angle of depression with measure 
30. The car is approaching the foot of the tower with a uniform speed. 
Eight seconds later, the angle of depression of the car has measure 60. 
Find the further time taken by the car to reach the foot of the tower. 

   (b) On a square handkerchief, 9 circular designs each of radius 3.5 cm are 
made. Find the area of the remaining portion of the handkerchief. 

OR 

  (1) In  ABC,  B is a right angle. AC – AB = 9 and AC – BC = 18. Find the 
perimeter of  ABC. 

  (2) Answer the following questions : 

   (a) Express the following linear equations in the form ax + by + c = 0 and 
indicate the values of a, b and c in each case. 

    (1) x – 
y
5 = 10  (2) – 2x + 5y = – 9 

    (3) 
2x
5  + 4y = 

1
7  (4) – 

4x
7  = – 

3y
5   

   (b) Find the area of a triangle, two sides of which are 10 cm and 13 cm 
and the perimeter is 38 cm. 
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 (B) Answer any three of the following five questions : 3 

  (1) Which of the following statement’s vice-versa is also true ? 

   (a) Diagonals of a rectangle bisect each other and are equal. 

   (b) Diagonals of a rhombus bisect each other at right angles. 

   (c) Diagonals of a square bisect each other at right angles. 

   (d) All of above 

  (2) Which of the following statement is not true ? 

   (a) Area of the triangle is the product of its base and the corresponding 
altitude. 

   (b) A median of a triangle divides it into two triangles of equal area. 

   (c) Area of a parallelogram is the product of its base and the 
corresponding altitude. 

   (d) Two congruent figures have equal areas. 

  (3) Check which of the following are solutions of the equation x – 4y = 4.  

   (a) (0, 2)  (b) (4, 1)            

   (c) (1, 1)       (d) (0, –1) 

  (4) ‘Length of a rectangle is five less than the thrice of its breadth.’ Which is 
the linear equation for given information ? 

   (a) x – 3y + 5 = 0  (b) 3x – y – 5 = 0 

   (c) x – 3y – 5 = 0  (d) 3x – y + 5 = 0 

  (5) If a1, a2, b1, b2  0 , then which of the following equation is consistent ? 

   (a) 
a1

a2
 = 

b1

b2
  (b) 

a1

a2
  

b1

b2
 

   (c) 
a1

b2
 = 

a2

b2
 (d) 

a1

b2
  

a2

b2
 

_______________ 


